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2400(kg/m?®)x0.32(m) x0.02(m) = 15.36 (kg/m) il Ses
2400(kg/m?)x0.17 (m) x0.02(m) = 8.16 (kg/m) SO0t Sins
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2500(kg/m®)x0.14(m) = 350(kg/m?) e b
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2250(kg/m*) % 0.025(m) = 56.25(kg,/m’) 2.50M ool 4y Slge
2100(kg/m?)x0.0125 = 31.5(kg/n) 1.5cm Cealses s ylowas dusle Do
600(kg/m?)x0.05(m) = 30(kg/n’) BCM Colbes 4y Soe 4S'ss
2500(kg/m®)x0.05(m) = 125(kg/m?) BeM cslbes 4 i I
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%(2500(k9/m3) x0_125(m)><0.2(m)) = 100(kg/m2)
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1300(kg/m®)x0.008(m) =10.4(kg/m?) 0.8cm S 5 &5 seuil .1

2100(kg/m?)x0.02 = 42(kg/n") 20M  Colbes a5 ylowes dwle S .2
850( kg/m’)x0.2(m) = 170(kg/n?) 20CM alses 4 5,5 ,>1@ .3
850( kg/m’)x0.1(m) = 85(kg/n"’) 10cm  culbrs 4 5,5 ,>10.3

1600(kg/m3)><0.012(m):19.2(kg/m2) 1.5cm cwls o S 575 od .1

2700(kg/m®)x0.02(m) = 54(kg/n?) 20M ol 4 yoye Siw .2
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